HEX MACHINE SCREW NUTS

SIZE BOX QTY ITEM # STAINLESS #

12-24 100 HNMO05 SSHNMO05

PLATED WING NUTS - Cold Forged
DESCRIPTION BOX QTY ITEM # DESCRIPTION BOX QTY ITEM #

See page 153 for size specifications @

FINISHED HEX NUTS
USS (COARSE) SAE (FINE) GRADE 8
SIZE BOXQTY LOW CARB. STAINLESS LOW CARB. STAINLESS BOX QTY USS (COARSE) SAE (FINE)

HNUO4 | SSHNUO4 HNS04 | SSHNSO04 HNU804 HNS804
HNUO6 | SSHNU06 HNS06 SSHNS06 HNU806 HNS806
HNUO8 | SSHNUOS HNS08 SSHNS08 HNU808 HNS808
HNU10 | SSHNU10 HNS10 SSHNS10 HNU810 HNS810
HNU14 | SSHNU14 HNS14 | HNU814 HNS814
e | p | | ] 10 | Hnuss | |

1-1/2 1 HNU824

SAE (FINE) HIGH HEX NUTS - PLAIN i
SIZE BOX QUANTITY THICKNESS ITEM # - SAE (FINE)

15552 I

HEAVY HEX NUTS
SIZE QUANTITY ITEM # SIZE QUANTITY ITEM #

HNHVUO4 HNHVU10
HNHVUOS HNHVU14

HNHVUO08
To Order Call: 708-447-4500 or Outside lllinois 800-837-8707




LOCK NUTS

PLATED “KEP” LOCK NUTS

SIZE QTY ITEM# STAINLESS # SIZE QTY ITEM # STAINLESS #

o2 | 00 | Jeo7 | |1a-20] 100 | HNKUOS | SSHNKUDS |

12-24 100 J611

STOVER LOCK NUTS
(HEAT TREATED ALLOY-G8) — PLATED

SIZE QUANTITY ITEM#-USS ITEM # - SAE

e |0 || ssTis |

See page 185 for size specifications

USS = COARSE
SAE = FINE

JAM NUTS
SIZE  QUANTITY ITEM#-USS ITEM # - SAE

B R
2 | oo | wuee |

NYLON INSERT LOCK NUTS - PLATED

BOX ITEM # - USS (COARSE) ITEM # - SAE (FINE) USS (COARSE)
SIZE QTY LOW CARB. GRADE 8 LOW CARB. GRADE 8 STAINLESS

5/16 HNUNY05 HNUNY805 | HNSNYO5 HNSNY805 | SSHNUNY05
7/16 HNUNY07 HNUNY807 | HNSNYO07 HNSNY807 SSHNUNY07

Reversible

lock nuts | 9/16 HNUNY09 HNUNY809 | HNSNY09 HNSNY809 SSHNUNY09

are

available. HNUNY12 HNUNY812 | HNSNY12 HNSNY812 SSHNUNY12
HNUNY16 HNUNY816 HNSNY16 HNSNY816 SSHNUNY16
1-1/4 HNUNY20 f (| |

SERRATED HEX U g COASE GRADE GT
FLANGE NUTS - FLANGE LOCK NUTS

SIZE QTY USS# SAE # SIZE QTY USS# SAE #

3/8 100 | HNUF06 | HNSF06 HNUF12
Hardened Steel Zinc Plated
To Order Call: 708-447-4500 or Outside lllinois 800-837-8707




WASHERS

FLAT WASHERS
:{0) 4 ITEM #
QTY USS (OD)  SAE (OD) USS G8 (OD) SAE G8 (OD) USS STAINLESS

| #6 | s00 | ] wwwmot | | | sswwwor |
| #t0 | 250 | | wwmos | | | Sswwwmo3 |

SIZE

| sne f s00 ] owwuos | | | |

s | 25 | wwoo | | wwuseo | wwseeo | |
Czean| 25 | wwoes | owwsee | | | |

2" 25 WWUuU32

See page 185 for size specifications

HARDENED EXTRA THICK FLAT WASHERS
BOX ITEM #
QTyY USS (OD) SAE (OD)

WWU904 WWS904
MYLAR & NYLON WASHERS
DESCRIPTION & SIZE ITEM # WWU906 WWS906
3/8 MYLAR WASHERS WWMO6
375 1D-1" OD X .014 THICK WWU908 WWS908
WWUSTO | WWSSio
waUsia | wwsots

SIZE

FENDER WASHERS
SIZEOD QTY ITEM# HEAVY# STAINLESS# QTY SIZEOD | QTY | ITEM# HEAVY# STAINLESS# QTY

(afexi (100 |Wwroato| |~ |~ [SMexe (o0 [wwroseol — |~
axi 100 | wwrosto| |sswwroatol 100 |amxi-va | 100 wwrosri| | sswwroo |5 |
1axi-i2 | 100 | wwFoste [wwrkos1a| swwroaz| 100 |smxe | 100 | wwroezo | wwrsvos| | |
sioxi-1] 100 | wwros | wwewos | sswwos1 | 25 |vexi-as | 100 [wwrosss| | | |

To Order Call: 708-447-4500 or Outside lllinois 800-837-8707




LOCK WASHERS

LOCK WASHERS

LOW CARBON PLATED GRADE 8 PLATED STAINLESS STEEL
SIZE BOXQTY ITEM # BOX QTY ITEM # BOX QTY ITEM #

e | oo | owwweo |
de | w0 | wewoe | | | o0 | sswwor
s2 | so | wewoe | | | o0 | sowwiwoe
e | wwe | oz | wwes | o |

*Add “P” for Plain

INTERNAL & EXTERNAL LOCK WASHERS - PLATED
SIZE BOX QUANTITY  ITEM#-INTERNAL  ITEM # - EXTERNAL

w1 w [ wwess
e | | wwwoe | wwwee

17 25 WWLI16 WWLE16

To Order Call: 708-447-4500 or Outside lllinois 800-837-8707




1/4” & 5/16” HEX HEAD CAP SCREWS

HEX HEAD CAP SCREWS

2 , ZINC PLATED YELLOW PLATED | :
z'cl');( A WY GRADES GRADE 8 R STAINLESS

UssS SAE Uss SAE Uss

AN
|| sswruoms
| Geuoso | Gesomo | ]
| Geuosso | aesosso |
| stex7s o | Gruosy | | ]
| Gevosta | aesosts |

5/16 x 3-1/2 GFU0532 GFS0532 GEU0532 GES0532 SSHHU0532
5/16 x 4 GFU0540 GFS0540 GEU0540 GES0540 SSHHU0540
5/16 x 5 GFU0550 GFS0550 GEU0550 GES0550 SSHHU0550

5/16 x 6 25 GFU0560 GFS0560 GEU0560 GES0560
See page 185 for specifications

To Order Call: 708-447-4500 or Outside lllinois 800-837-8707




3/8” & 7/16” HEX HEAD CAP SCREWS

HEX HEAD CAP SCREWS

.

2 ZINC PLATED YELLOW PLATED ASD
g?\)(( @Y GRADES GRADES ‘@Y  STAINLESS
USS = COARSE s — — B —

SAESFNE ™ gexi2 | 100 | ruosz | GFsoeoz | Geuosoz | Gesosz |
| esxs8 0| | |oaEwess | |
;'
E]
| osx5i2 | 25 | GFUoes2 | GFsoesz | GEUoese | GEsoesz | |
| sexet2 |25 | | | oGEuoeez | |
| 38x8 | 25 | GFuoeso | ¢ [ } |
:
|
X
%
| 7exavz | 25 | GFuorez | Grsorez | Geuoree | Gesorez |
- | 7mexs12 | 25 | Gruorse | Grsors2 | GEworse | Gesors2 ||
| 7ex7 | 1 |Gruoro | | |

See page 185 for size specifications

To Order Call: 708-447-4500 or Outside lllinois 800-837-8707

VEFRTRRTREYEY




1/2” HEX HEAD CAP SCREWS

HEX HEAD CAP SCREWS

ZBA. 7ZINC PLATED vELLow PLATED ANB; USS = COARSE
BOX (S | SAE = FINE
ory @Y GRADES GRADE8 ‘@Y  STAINLESS
uss SAE
12x3/4 | 100 | GFU0803 | GFS0803 | GEU0803 | GES0803 _
oy
12 x 1-1/4 GFU0811 GFS0811 GEU0811 GES0811 | SSHHU0811 ) i
=

-
'
-
:
eiasw |2 | L loess | |

1/2 x 5-1/2 - GFU0852 GFS0852 GEU0852 | GES0852 _

- PLAIN -
GRADE 8
1/2 x 6-1/2 GFU0862 GEU0862 GES0862

vexs | 1| | | oo | cesomo |

1/2 X 9-1/2 GFuose2 | | GEuoss2 | GEsos2 | 00

1/2 x 11 1 GFU08110 GEU08110

.ﬂ‘IHI"IE'HTFHHP-‘

See page 185 for size specifications

INFASCO

To Order Call: 708-447-4500 or Outside lllinois 800-837-8707




9/16” HEX HEAD CAP SCREWS

HEX HEAD CAP SCREWS

ZINC PLATED YELLOW PLATED 3
GRADE 5 GRADE 8 »Y STAINLESS

e -""1
s

LN

ary uss SAE uss SAE uss

9/16 x 1 GgrFuosto [ | Geuogto [ GESo9to | SSHHU0910

916 x 1-1/2 GFU0912 | GFS0912 | GEU0912 | GES0912 | SSHHU0912

9/16 x 2 GFU0920 GFS0920 | GEU0920 | GES0920 | SSHHU0920
9/16 x 2-1/2 GFU0922 | GFso922 | GEUo922 | GEsog22 | |
9/16 x 3 GFU0930 GFS0930 | GEUo®3o | GEsos3o |
9/16 x 3-1/2 GFU0932 | GFS0932 | GEU0932 | GESoes2 | |

USS = COARSE

SAE = FINE 9/16 x 4 GFU0940 GFS0940 GEU0940 | GESoss0 |
9/16 x 5 GFU0950 GFS0950 | GEUogs0 | GEsosso | |
9/16 x 6 GFU0960 GFS0960 GEU0%60 | GESoseo f |

- PLAIN -
GRADE 8
Uss SAE
9/16 x 6-1/2 1 | GEUo%s2 | |

96x742 | 1 | | ] GEUos72 | GEsosr2 | |

See page 185 for size specifications

»

G LU ER

GRADE 8 PLOW BOLTS
DESCRIPTION BOX QTY ITEM #

1/2-13 x3 GEUP0830
5/8-11 X 2-1/2 GEUP1022

5/8-11 X 3-1/2 GEUP1032
3/4-10 X 2-1/2 GEUP1222
3/4-10 X 3-1/2 GEUP1232

3/4-10 X 4-1/4 25 GEUP1242

To Order Call: 708-447-4500 or Outside lllinois 800-837-8707




5/8” HEX HEAD CAP SCREWS

HEX HEAD CAP SCREWS

4, ZINC PLATED YELLOW PLATED % USSSAE COSE
SIZE BOX ‘& GRADE 5 GRADES ‘@Y  STAINLESS )
O Tuss SAE uss SAE uss
e 25 | GRU00 | | Gt | Gestoo |
o5

et
E]
i
'
ceuosz | ceswosz |

— PLAIN -
USS SAE
sexoi | 1

IH‘IHI'IH"ITI'FHH'?

| sex7a2 | | | I
| sxsi2 | 1| | I
| sexotr2 L4 | 0 |
| sexto2 | ) | | |
ICESIE TN [ T I I R AR R

5/8 x 13 1 GFU10130 GEU101300

See page 185 for size specifications

INFASCO

To Order Call: 708-447-4500 or Outside lllinois 800-837-8707




3/4” HEX HEAD CAP SCREWS

HEX HEAD CAP SCREWS

y ZINC PLATED YELLOW PLATED

GRADE 5 GRADE 8 - STAINLESS
QTY ——

‘ USss SAE uUss SAE USS
i @ | | rswn | Geveno | Gesweo | |
cevrez | cesiez | |
Gevrieo | cesiem | |
Geve | cesee | |
Gevreso | cesizwo | |
Geuizso | Gesieso | |
Geurzeo | Gesieso | |

- PLAIN -
GRADE 8
uss SAE
3/4 x 6-1/2 1 SSHHU1262

See page 185 for size specifications

= J.l#l\
A

ol

S INFASCO

To Order Call: 708-447-4500 or Outside lllinois 800-837-8707




7/8” HEX HEAD CAP SCREWS

HEX HEAD CAP SCREWS : USS = COARSE

~ ZINC PLATED PLAIN SAE = FINE

BOX GRADE 5 GRADE 8

aty |~

SS SAE USSs SAE
“exreve e | | || Gesn
gexae L2 | || | aesun
vexeve lew | | | |
gexeae o | | o |

— PLAIN -
GRADE 8
SA
78 x 611

exre | 1 | || ceviere | ceswre
oxoe | 1 | | | | cesuse

7/8 x 11 1 GEU14110

ey L R

See page 185 for size specifications

THE LA101 SAE (FINE) GRADE 5 ASSORTMENT CONTAINS: ‘

DESCRIPTION ITEM # DESCRIPTION

1/4-28 HEX NUT GFS0620 3/8-24 X 2
GFS 3/8 24 X 21/2

‘ﬁ
3
>R
R
x
w

00 00 00 00 00 00 0O ooocooo
3K XXX 33X XX XX
oo XXX XXX 0 20 oo XXX X X

9/16 FLAT WASHER
5/8 FLAT WASHER
1/4-28 X 3/4

1/4-28 X 1 1/4 2
1/4-28 X 1 1/2 GFS0911 9/16 11/4
1/4-28 X 2 GFS0912 9/16 11/2
1/4-28 X 2 1/2 GFS0913 9/16 13/4
1/4-28 X 3 GFS0920 9/16 2
5/16-24 X 3/4 GFS0922 9/16 21/2
5/16-24 X 1 GFS0930 9/16 3
5/16-24 X 1 1/4 GFS0932 9/16 31/2
5/16-24 X 1 1/2 GFS1011 5/8-1 1/4
5/16-24 X 1 3/4 GFS1012 5/8-1 1/2
ITEM # 5/16-24 X 2 GFS1013 5/8-1 3/4
5/16-24 X 2 1/2 GFS1020 5/8-1
LA101 3/8-24 X 1 GFS1022 5/8-1 1/2
3/8-24 X 1 1/4 GFS$1030 5/8-1
Also shown on page 139 352_51 ?ﬂ ;ﬁ GFs1032 581 12




1” HEX HEAD CAP SCREWS

USS = COARSE HEX HEAD CAP SCREWS

SAE = FINE 4 ZINC PLATED PLAIN &
SIZE BOX @Y GRADES5 GRADE8 "

ary USS SAE

uss SAE
[ ix1 s [ 7
| ixi12 [ 5 |Grutet2 |} |
I R D e e —

— PLAIN -
GRADE 8
USS SAE

ERECEN N
BRI N N
IEEEICI I N
IEEXECEN I R R .

1X13 1 GEU16130

See page 185 for size specifications

LK

SHIREFRTET TR

INFASCO

To Order Call: 708-447-4500 or Outside lllinois 800-837-8707




1-1/8, 1-1/4, & 1-1/2” CAP SCREWS

HEX HEAD CAP SCREWS

— PLAIN -

BOX GRADES ‘Y
QTyY s USS = COARSE

Uss
| x| 1 | ] | ceuse | |
| ttexstz || | | Geutes |
| texs |1 | ] | Geusso | |
| x| | | | Geutseo | |
I I I AR NN S
| ttaxstz ||| | GEbeose |
| taxar |1 | ] | Geueos2 | |
| taxse ||| f GEleose |
| taxet2 |1 | ] | Geue2 | |
| ttaxs |1 | ] | Geueoso | |
| gaxore |1 | | | Geuos2 | |
I I I AR NN S
| gexs2 |1 | ] | ceuaze | |
| x4tz |1 | L | ceuassz |
| gaexe |1 | | | GEuaeo |

See page 185 for size specifications

Also available
e Larger Sizes
* Special Sizes
* Secondary processing
Drilling
Threading
Cutting

To Order Call: 708-447-4500 or Outside lllinois 800-837-8707




FLANGE BOLTS & NUTS

GR 8.8 METRIC FLANGE BOLTS

Zinc Hex Washer Head
DESCRIPTION BOX QTY =

GRADE 8 USS FLANGE (FRAME) BOLTS
Hex Washer Head Black Phosphate and Oiled

DESCRIPTION  BOX QTY ITEM # M6 X 1.0 X 20 MMHFLO620
3/8-16 x 1-1/4 GEUF0611 |
e [ M6 X 1.0 X 30 MMHFL0630
3/8-16 x 1-3/4 GEUF0613 il
M6 X 1.0 X 60 MMHFLO660
1/2-13 x 1-1/4 GEUF0811 :
oy | M8X125X16 MMHFL0816

1/2-13 x 1-3/4 GEUF0813
= M8 X 1.25 X 25 MMHFL0825

1/2-13 x 2-1/4 GEUF0821
M8 X 1.25 X 35 MMHFLO0835

1/2-13x 3 GEUF0830
M8 X 1.25 X 45 MMHFL0845

1/2-13x 5 GEUF0850
M8 X 1.25 X 60 MMHFL0860

5/8-11 x 1-1/2 GEUF1012
M10 X 1.5 X 20 MMHFL1020

5/8-11 x 2 GEUF1020
M10 X 1.5 X 30 MMHFL1030

5/8-11 x 2-1/2 GEUF1022
M10 X 1.5 X 60 MMHFL1060

5/8-11 x 3 GEUF1030
M12 X 1.75 X 25 MMHFL1225

5/8-11 x 4 GEUF1040
M12 X 1.75 X 60 MMHFL1260
3/4-10 x 2-1/2 GEUF1222

M16 X 2.0 X 20 25 MMHFL1660
3/4-10 x 3-1/2 GEUF1232
See page 185 for size specifications METRIC FLANGE NUTS

SIZE |QTY  ITEM#

M6 -1.00 MMHNCF06
M10 -1.50 MMHNCF10

M14 -1.00 25 | MMHNCF14

METRIC STOVER NUTS
SIZE QTY ITEM#

M10 -1.5 MMHNCST10

M14 -2.0 MMHNCST14

M20 -2.50 25 | MMHNCST20

To Order Call: 708-447-4500 or Outside lllinois 800-837-8707




METRIC

HEX & NYLOCK NUTS - METRIC

SIZE THREAD BOX 8.8 10.9 NYLOCK NUT
PITCH QTyY ITEM # ITEM # ITEM #

CowuCowss | | 2 | wwewcos | | weNoNvoD
oM Cowse | 08 | 25 | WMANGOS | WMIOMNGOS | MMHNCNYOS
oovmoomse | 3 | a5 | | uwiomcar | murnowvas
Cewurne | 1o | o | wwewros | wwomveoe |
CowFne | s | 2 | wwewei2 | wwiomere |
CiowEne | 15 | 2 | wweweie | wwomvee |
Caowmrne | 1o | e | wwewo | |
Cowcrarne | oo | es | wweweio | |

22MM X-tra Fine 1.5 25 MMHNXF22

WASHERS - METRIC - FLAT & LOCK
FLAT WASHERS LOCK WASHERS
SIZE QTyY 8.8 ITEM # 10.9 ITEM # QTyY ITEM #

T 5o | wwwwos |
e | s | wewor |

To Order Call: 708-447-4500 or Outside lllinois 800-837-8707




8.8 METRIC HEX HEAD CAP SCREWS

COARSE METRIC HEX HEAD CAP SCREWS GRADE 8.8 - PLAIN
SIZE QTY| ITEM# PITCH SIZE QTY| ITEM# PTCH SIZE QTY ITEM# PITCH

(51200 | 25 [MHCCO20 | 05 |6+10MM | 25 | MMHCCO8T0 | 1.25 |14x20MM | 25 | MMHCC1420 | 20
5.aom | 25 | MiiHoG0s30 | 08 |sxtemi | 25 | MHoGD81S | 125 |1exaomn | 25 | mwHCG14%0 | 20
5wt | 25 [ WHOG0S40 | 08 |si25mit | 25 | MHoGD825 | 125 |1exdonia | 25 | MHCG1440 | 20

Teiou | 2 |mmiscorso | 10 [1mou] 2o | Mwicoreso | 11e |inows] 1 | wersso | 20
L 1| reooum| 25 [mwccizso | 175 [eooum| 10 | wiHcczos | 25 |

Additional sizes available For ZINC plated - Add Z after part number

THE LA105 8.8 COARSE & FINE ASSORTMENT CONTAINS:
ITEM # DESCRIPTION  ITEM # DESCRIPTION

MMHCC0620 6MM - 1.0 X 20 MMHCF1230 12MM X 1.50 X 30
MMHCC0630 -1 MMHCF1240 12MM X 1.50 X 40
MMHCC0640 -1 MMHCF1250 12MM X

50
MMHCF1260
MMHCF1270
MMHCF1435
MMHCF1440
MMHCF1450
MMHCF1460
MMHCF1470
MMHCF1630

oo

MMHCC1020
MMHCC1030
MMHCC1040
MMHCC1050

XXX XXKX XXX XX

1.
1.
1.
1.
1.
1.
1.
1.
1.
1.
1.
1.
1.

Qooooaaanoaoo
SO0 O00O0000000

KKK XX XXX XX X

mem»wwmmgawm

==
==
x
o000 000o

MMHCC1060 A HEX NUT 6MM X 1.00
MMHGC1070 A HEX NUT 8MM X 1.25
MMHCG1225 12MM X 1. HEX NUT 10MM X 1.50

MMHCC1230 12MM X 1. HEX NUT 12MM X 1.75
MMHCC1240 12MM X 1. HEX NUT 8MM X 1.00
MMHCC1250 B HEX NUT 10MM X 1.25
HEX NUT 12MM X 1.50
HEX NUT 14MM X 1.50
HEX NUT 16MM X 1.50
LOCKWASHER 6MM
LOCKWASHER 8MM

ITEM #

X LOCKWASHER 10MM
LA105 LOCKWASHER 12MM
LOGKWASHER 14MM
Also shown on page 142 MMHCF1020 M X 1.25 X 20 LOCKWASHER 16MM
MMHCF1025 10MM X 1.25 X 25 FLATWASHER
MMHCF1030 10MM X 1.25 X 30
MMHGF1040 10MM X 1.25 X 40
MMHGF1050 10MM X 1.25 X 50
MMHGF1060 10MM X 1.25 X 60
MMHCF1225 12MM X 1.50 X 25




8.8 METRIC HEX HEAD CAP SCREWS

FINE & XTRA FINE METRIC HEX HEAD CAP SCREWS GRADE 8.8 - PLAIN
SIZE |QTY  ITEM# PMICH SIZE QTY  ITEM# PITCH SIZE QTY  ITEM# PITCH

(Ex10MM | 25 | MMHCFOB10 | 1.0 |12x4OMM| 25 | MMHGF1240 | 1.5 |18xéOMM | 10 | MMHOF1840 | 15 |

a0 | 25 | iHGF0s20 | 10 |i2xsomu] 25 | MuHGF1250 | 15 |texcom| 10 | MwiHCF1as0 | 15 |

axaon | 25 | wHCFos30 | 1.0 |12xcom] 25 | wiGF1260 | 15 |texaom] 1o | MicFisso | 15 |
XTRA FINE THREAD

ordouid | 25 | MUHCFos40 | 1.0 |12xaom] 25 | WHCF1280 | 1.5 [10cc0MM] 25 |MHCKF1020] 1.0

oM | 25 | MMHCFoB60 | 1.0_|14xa5h| 25 | MMHCF1435 | 15 |10xaoni| 25 |MMHCXF1040| 10 |

For ZINC plated - Add Z after part number Additional sizes available

The LA160 Coarse Metric 8.8 Pan Assortment
contains the following items:

MMHNC06, MMHNC08, MMHNC 10, MMHNC12,
MMLWO06, MMLWO08, MMLW10, MMLW12,
ITEM #
LA160 MMHCC0640, MMHCC0816, MMHCC0825,
MMHCC 1040, MMHCC 1050,

The LA161 Fine Metric 8.8 Pan Assortment
contains the following items:

MMHCF0816, MMHCF0825, MMHCF0840

MMHCF 1050, MMHCF 1060, MMHCF1230,
MMHCF 1430, MMHCF 1440, MMHCF1460

MMHNF12, MMHNF14, MMLWO08, MMLW10,

MMWW12, MMWW14

MMHCC1250, MMHCC 1275

ITEM #
LA161

To Order Call: 708-447-4500 or Outside lllinois 800-837-8707




10.9 METRIC HEX HEAD CAP SCREWS

COARSE METRIC HEX HEAD CAP SCREWS GRADE 10.9 - PLAIN
SIZE QTY ITEM # PITCH SIZE QTY ITEM # PITCH SIZE QTY ITEM # PITCH
6x12MM | 25 [MM10HCCO0612| 1.0 J10x45MM| 25 [ MM10HCC1045| 1.5 |14x110MM| 25 [MM10HCC14110| 2.0
6x15MM | 25 | MM10HCCO0615( 1.0 J10x50MM| 25 [ MM10HCC1050| 1.5 |16x20MM| 10 | MM10HCC1620| 2.0
6x16MM | 25 [MM10HCCO0616| 1.0 J10x60MM| 25 [ MM10HCC1060| 1.5 J16x30MM| 10 [ MM10HCC1630| 2.0
6x20MM | 25 | MM10HCC0620( 1.0 J10x70MM| 25 [ MM10HCC1070| 1.5 |16x35MM| 10 | MM10HCC1635| 2.0
6x25MM | 25 [MM10HCC0625| 1.0 J10x75MM| 25 [ MM10HCC1075| 1.5 [J16x40MM| 10 [ MM10HCC1640| 2.0
6x30MM | 25 [ MM10HCC0630| 1.0 J10x80MM| 25 [ MM10HCC1080| 1.5 |16x45MM| 10 | MM10HCC1645| 2.0
6x35MM | 25 [ MM10HCC0635( 1.0 J10x90MM| 25 [ MM10HCC1090| 1.5 [J16x50MM| 10 [ MM10HCC1650| 2.0
6x40MM | 25 | MM10HCCO0640( 1.0 J12x20MM| 25 [ MM10HCC1220| 1.75 |16x60MM| 10 | MM10HCC1660| 2.0
6x45MM | 25 [MM10HCC0645| 1.0 J12x25MM| 25 [ MM10HCC1225| 1.75 |16x65MM| 10 | MM10HCC1665| 2.0
6x50MM | 25 | MM10HCCO0650( 1.0 J12x30MM| 25 [ MM10HCC1230| 1.75 |16x70MM| 10 | MM10HCC1670| 2.0
6x55MM | 25 [ MM10HCC0655| 1.0 J12x35MM| 25 [ MM10HCC1235| 1.75 |16x75MM| 10 | MM10HCC1675| 2.0
6x60MM | 25 [ MM10HCC0660| 1.0 J12x40MM| 25 [ MM10HCC1240| 1.75 |16x80MM| 10 [ MM10HCC1680| 2.0
6x70MM | 25 [MM10HCC0670| 1.0 J12x45MM| 25 [ MM10HCC1245| 1.75 |16x90MM| 10 [ MM10HCC1690| 2.0
8x12MM | 25 | MM10HCCO0812( 1.25 |12x50MM| 25 [ MM10HCC1250| 1.75 |16x100MM| 10 | MM10HCC16100 | 2.0
8x16MM | 25 [MM10HCCO0816| 1.25 J12x55MM| 25 [ MM10HCC1255| 1.75 |16x110MM| 10 | MM10HCC16110 | 2.0
8x20MM | 25 | MM10HCCO0820( 1.25 |12x60MM| 25 [ MM10HCC1260| 1.75 |18x30MM| 10 | MM10HCC1830| 2.5
8x25MM | 25 [MM10HCC0825| 1.25 J12x70MM| 25 [ MM10HCC1270| 1.75 |18x40MM| 10 | MM10HCC1840| 2.5
8x30MM | 25 [ MM10HCC0830| 1.25 J12x80MM| 25 [ MM10HCC1280| 1.75 |18x45MM| 10 | MM10HCC1845| 2.5
8x35MM | 25 [ MM10HCC0835| 1.25 J12x90MM| 25 [ MM10HCC1290| 1.75 |18x50MM| 10 | MM10HCC1850| 2.5
8x40MM | 25 | MM10HCCO0840( 1.25 |14x20MM| 25 [ MM10HCC1420| 2.0 |18x60MM| 10 | MM10HCC1860| 2.5
8x45MM | 25 [MM10HCC0845| 1.25 J14x25MM| 25 [ MM10HCC1425| 2.0 |18x70MM| 10 | MM10OHCC1870| 2.5
8x50MM | 25 | MM10HCCO0850( 1.25 |14x30MM| 25 [ MM10HCC1430| 2.0 |18x80MM| 10 | MM10HCC1880| 2.5
8x60MM | 25 [ MM10HCC0860| 1.25 J14x35MM| 25 [ MM10HCC1435| 2.0 J18x90MM| 10 | MM10HCC1890| 2.5
8x70MM | 25 [ MM10HCC0870| 1.25 J14x40MM| 25 [ MM10HCC1440| 2.0 |20x40MM| 10 | MM10HCC20040| 2.5
8x80MM | 25 [ MM10HCC0880| 1.25 J14x45MM| 25 [ MM10HCC1445| 2.0 |20x50MM| 10 | MM10HCC20050 | 2.5
10x16MM | 25 | MM10HCC1016| 1.5 |14x50MM| 25 [ MM10HCC1450| 2.0 |20x60MM| 10 | MM10HCC20060 | 2.5
10x20MM [ 25 | MM10HCC1020| 1.5 |14x60MM| 25 | MM10HCC1460| 2.0 |20x70MM| 10 | MM10HCC20070 [ 2.5
10x25MM | 25 | MM10HCC1025| 1.5 |14x70MM| 25 [ MM10HCC1470( 2.0 |20x80MM| 10 | MM10HCC20080 | 2.5
10x30MM| 25 [ MM10HCC1030| 1.5 |14x80MM| 25 [ MM10HCC1480| 2.0 |20x90MM| 10 | MM10HCC20090 | 2.5
10x35MM | 25 [ MM10HCC1035| 1.5 |14x90MM| 25 [ MM10HCC1490| 2.0 }20x100MM| 10 | MM10HCC20100 | 2.5
10x40MM | 25 [MM10HCC1040| 1.5 [14x100MM| 25 | MM10HCC14100( 2.0

Additional sizes available For ZINC plated -
THE LA106 10.9 COARSE & FINE ASSORTMENT CONTAINS W:Cls AL -1d e Y:Ta 171110104
ITEM # DESCRIPTION _ _ITEM # DESCRIPTION
MM10HCC0620 MM10HCF1240 12MM -1.50 X 40

MM10HCCO0630 - MM10HCF1250 12MM -1.50 X 50
MM10HCCO0640 - MM10HCF1260 12MM -1.50 X 60
MM10HCCO0650 - MM10HCF1270 12MM -1.50 X 70
MM10HCC0660 - MM10HCF1435 14MM -1.50 X 35
MM10HCC0816 -1. MM10HCF1440 14MM -1.50 X 40

MM10HCC0820 -1, MM10HCF1450
MM10HCC0830
MM10HCC0840
MM10HCC0850

MM10HCF1670

MM10HNC06

1. MM10HNC08

MM10HCC1070 -1 MM10HNC10 HEX NUT 10MM -1.5
MM10HCC1225 -1, MM10HNC12 HEX NUT 12MM -1.75
MM10HCC1230 -1, MM10HNC14 HEX NUT 14MM -2.00
MM10HCC1240 -1, MM10HNC16 HEX NUT 16MM -2.00
MM10HCC1250 -1, MM10HNF8 HEX NUT 8MM -1.00
MM10HCC1260 -1, MM10HNF10 HEX NUT 10MM -1.25
MM10HCC1270 -1, MM10HNF12 HEX NUT 12MM -1.50
MM10HCF0810 -1. MM10HNF14 HEX NUT 14MM -1.50
MM10HCF0820 -1. MM10HNF16

MM10HCF0825
MM10HCF0830

ITEM # MM10HCF0840 -1.
MM10HCF0850 -1. MM10WW14 FLAT WASHER 14MM
LA1 06 MM10HCF1020 MM -1.. MMWW16 FLAT WASHER 16MM
MM10HCF1025 -1 MMLWO06 LOCKWASHER 6MM
MM10HCF1030 -1. MMLWO08 LOCKWASHER 8MM
Also shown on page 142 MM10HCF1040 1. MMLW10 LOCKWASHER 10MM

MM10HCF1050 1. MMLW12 LOCKWASHER 12MM
MM10HCF1060 -1. MMLW14 LOCKWASHER 14MM
MM10HCF1225 -1 MMLW16 LOCKWASHER 16MM
MM10HCF1230




10.9 METRIC HEX HEAD CAP SCREWS

FINE & XTRA FINE METRIC HEX HEAD CAP SCREWS GRADE 10.9 - PLAIN
SIZE QTY ITEM# PICH SIZE QTY ITEM#  PITCH SIZE QTY  ITEM# PITCH

XTRA FINE THREAD
oxcoum | 25 |Mhr10nCFoz20 | 1.0 | 14xasmiul 25 vioHGF1aas| 15 |r2xeom | 25 [MhorCxFizzo| 1.25
oxcoum | 25 |M101CFoe30 | 1.0 | 14xdsmi 25 vioHGF1a45| 1.5 |1zxaom | 25 [WhiorCxFizsol 1.25
oo 25 |hrioHoF 100 | 125 | oo 25 miokcrasol 15 | | | |
Tossou| 25 |hrioHoF 1040 | 125 [retzowm| 5 Wwiorcrrerol 15 | | | |
10x550M| 25 |MM10HCF1055 | 125 | iGxaom] 10 fumioHcrisaol 15 | | | |
1ziesu| 25 |M1onCF1225 | 15 |tedswul 10 wwiorcrses| s | | | |
2o 25 |MhrioncF1z3s | 15 | teeomu 10 wwiorcrssol s | | | |
1zi50um| 25 |MhrtoncF1zs0| 15 |texow| 5 wwoscerezol s | | | |
2o 25 |wroncrizro| 15 |sctow] 1o wwroncrrsro| s | | | |

For ZINC plated - Additional sizes available
Add Z after part number

The LA164 Coarse Metric 10.9 Pan Assortment contains
the following items:

MM10HNCO06, MM10HNC08, MM10HNC10, MM10HNC12,
MMLWOo6, MMLWO08, MMLW10, MMLW12, MM10HCCO0612,
MM10HCC0816, MM10HCC0825, MM10HCC0840,

MM10HCC1050,MM10HCC1060, MM10HCC1230,

The LA163 Fine Metric 10.9 Pan Assortment contains
the following items:

MM710HNF06, MM10HNF08, MM10HNF10, MM10HNF12,
MMLWO06, MMLWOS, MMLW10, MMLW12, MM10HCF0612,
ITEM # MM10HCF0816, MM10HCF0825, MM10HCF0840,
LA163
MM10HCF1050,MM10HCF1060, MM10HCF1230,

To Order Call: 708-447-4500 or Outside lllinois 800-837-8707




SOCKET HEAD CAP SCREWS

SOCKET HEAD CAP SCREWS - Plain
SIZE BOXQTY  ROUND HEAD FLAT HEAD BUTTON HEAD

| 1420x1-1/2 | 100 | SKTUO412 | SKTFUo4t2 | |

| 1420 ] 100 | SKTUO420 | SKTFUo40 | |

| 1/420x3 | 100 | SKTuo430 [ | |

| 5/16-18x1-1/4 | 100 | SKTUOST1 | SKTFUOS™T |
Round Head _
sreiwerz | 10 | oskruose | |
| 516-18x3-1/2 | 100 | SKTU0532 | SKTFUOS32 [
| 8/8-16xi2 | 100 | SKTUOBO2 | | SKTBUO602 |
| 38-16xi-12 | 100 | SKTUOBI2 | SKTFUost2 | |
ssieeie | so | skt | sreuosz2 | |
| 3/8-16x31/2 | 50 | SKTuoes2 f [
Jnetaxtuz | 0 | skruorz | sktruori |
| 7/16-44x2-1/2 | 50 ] SKTUO722 | [ |
| 7AMe4xa1/2 | 50 | sktuo7s2 | | |
" ie1vere | so | scuose | skreuosee | |
Button Head | 1/213x31/2 | 50 | SKTU0B32 | SKTFUoss2 | |

| seia | 25 | scuios | sk |

5/8-11x4 25 SKTU1040
Additional sizes available

To Order Call: 708-447-4500 or Outside lllinois 800-837-8707
20




CARRIAGE BOLTS

FULL-THREAD CARRIAGE BOLTS - zZINC PLATED
LENGTH 1/4 - 20 5/16 - 18 3/8 - 16 1/2-13

CB0403 ces (| |
1-1/4 CBO411 CBO511 CBO611 CB0811

1-3/4 . | cBoeiz | |

e | ceoset |
284 | | | CBoe23 [ |
e | L I ceosst | |

PARTIAL-THREAD CARRIAGE BOLTS - ZINC PLATED
| 6 ] CBo460 | CBO560 | CBO660 [  CB086O |

| 8 | cBo4g0 [ |  CBO0680 CB0880

12 CB08120

RIB-NECK CARRIAGE BOLTS - ZINC PLATED
DESCRIPTION ITEM # BOX QTY

100
100
100
100

3/8-16 x 3 CBRNO0630 50

TORX HEAD BOTTOM RAIL BOLTS - zZINC PLATED
DESCRIPTION ITEM # BOX QTY

3/8-24 X 1 TBHO0610

3/8-24 X 1-1/4 TBHO0611 100
3/8-16 X 1-1/4 TBHUO0611 100

3/8-16 X 1-7/8 TBH0617 100

To Order Call: 708-447-4500 or Outside lllinois 800-837-8707




ELEVATOR, STEP BOLTS & KITS

ELEVATOR BOLTS - Zinc Plated
LENGTH 1/4-20 5/16-18 3/8-16

1-1/2 CBELO0412 CBELO0512 CBELO0612

CBEL0420 CBEL0520 CBEL0620

2-1/2 CBEL0422 _ CBEL0622

STEP BOLTS - Zinc Plated
LENGTH 1/4 - 20 5/16 - 18 3/8 - 16

1-1/2 CBST0412 CBST0512 CBST0612

CUSTOM PACKAGING AVAILABLE
PACKAGED KITS QTY 1
DESCRIPTION QTY KIT CONTENTS

KIT06 CROSSMEMBER 3/8 - 16 X 1-1/4” RIB NECK CARRIAGE BOLTS GRADE 5
3/8 - 16 FLANGE NUTS
3/8 MYLAR WASHERS

o 00 0

KITTXUO06 BOTTOM RAIL 3/8 - 16 X 1-1/4” TORX BUTTON HEAD SCREWS

3/8 - 16 FLANGE NUTS

o oo

KIT0410 1” ELEVATOR BOLTS 100 | 1/4 X 1” ELEVATOR BOLTS
100 | 1/4 - 20 KEP NUTS

KIT0412 1-12”ELEVATORBOLTS | 100 [ 1/4 X 1-1/2” ELEVATOR BOLTS
100 | 1/4 - 20 KEP NUTS

KITO411ST | 1-1/4”STEP BOLTS 100 | 1/4-20 X 1-1/4” STEP BOLTS
100 | 1/4 - 20 KEP NUTS

KIT0420ST | 2’'STEP BOLTS 100 | 1/4-20 X 2" STEP BOLTS
100 | 1/4 - 20 KEP NUTS

22

To Order Call: 708-447-4500 or Outside lllinois 800-837-8707 éﬁg_;:



FLOOR & WOOD SCREWS

TORX FLOOR-BOARD SCREWS

1/4 5/16 TORX

DESCRIPTION TORX-FLAT  pgscRriPTION TORX-FLAT  pESCRIPTION PAN
PHOS & OIL PHOS & OIL ZINC PLATED

1/4 x 17 FLST0410 5/16 x 17 FLST0510 1/4 x 3/4” FLSTP0403

1/4 x 1-1/2” FLST0412 5/16 x 1-1/2” FLST0512 1/4 x 1-1/2” FLSTP0412

1/4 x 2-1/4” FLST0421 5/16 x 2-1/4” FLST0521 1/4 x 2-1/2” FLSTP0422
1/4 x 3” FLST0430 5/16 x 3" FLST0530 5/16 x 17 FLSTP0510
1/4 x 47 FLST0440 5/16 x 4” FLST0540 5/16 x 2" FLSTP0520

| 564 FLSTP0540

Box quantity is 100. Bulk quantities available

FASTENING SYSTEMS FOR THE TRANSPORTATION INDUSTRY
FASTENING SYSTEMS FOR INTERIOR WOOD LINING
DESCRIPTION BOX QTY ITEM # PLATING

10 x 3/4” SCI Liner Screw STLPL1003 Zinc/Yellow

10 x 1-1/4” SCI Liner Screw 100 STLPL1011 Zinc/Yellow
SCI Liner Screws use #2 square drive apex bit.

PLYWOOD LINING SCREWS - Phillips & Torx Wafer Head Tek Screws - Zinc Plated
DESCRIPTION BOX QTY ITEM # DESCRIPTION BOX QTY L=

10-24 x 3/4” Phillips SMSTKW1003 | 10- 16 x 1" Torx SMSTKWT1010

10-24 x 1-1/2” Phillips 100 SMSTKW1012 10 - 16 x 1-1/2” Torx 100 SMSTKWT1012

PHILLIPS FLAT HEAD WOOD SCREWS - Zinc Plated
DESCRIPTION  BOX QTY ITEM # DESCRIPTION  BOX QTY ITEM #

To Order Call: 708-447-4500 or Outside lllinois 800-837-8707
23




SHEET METAL SCREWS

PHILLIPS PAN HEAD SHEET METAL SCREWS - Zinc Plated

=10).4 STAINLESS BOX STAINLESS
SIZE QTyY ITEM # ITEM # SIZE QTY ITEM# ITEM #

6 x 3/8 SMSPH0606 |SSSMSPH0606 | 10 x 1-3/4 SMSPH1013 [SSSMSPH1013
6 x 5/8 SMSPHO0605 [SSSMSPHO0605 | 10 x 2-1/2 SMSPH1022 | SSSMSPH1022
SMSPH0610 |SSSMSPHO610| 12 x 3/4 SMSPH1203 | SSSMSPH1203

8 x 3/8 SMSPH0806 |SSSMSPH0806 | 12 x 1-1/4 SMSPH1211 | SSSMSPH1211

“T0xa5 | 100] swsprioos | | text-a |100| Susprierr |sssusprierr

10x1-1/2 [ 100| SMSPH1012 [SSSMSPH1012
Additional sizes available Truss Head and Flat Head also available.

SLOTTED PAN HEAD SHEET METAL SCREWS = Zinc Plated

=10) STAINLESS =10) ¢ STAINLESS
SIZE QTyY ITEM # ITEM # SIZE QTY ITEM # ITEM #

6x1/2 SMSSL0602 | SSSMSSL0602 | 10 x 1-1/2 SMSSL1012 | SSSMSSL1012

SMSSL0610 | SSsMssLo610 | 12x 1/2 SMSSL1202 | SSSMSSL1202

Additional sizes available Truss Head and Flat Head also available.

To Order Call: 708-447-4500 or Outside lllinois 800-837-8707




SHEET METAL SCREWS

HEX HEAD SHEET METAL SCREWS - Zinc Plated

SLOTTED HEX SLOTTED HEX
WASHER WASHER
HEX HEAD HEAD HEX HEAD HEAD
SIZE QTyY ITEM # ITEM # SIZE QTY ITEM # ITEM #

“ouve |00 |susosor |
ouse |0 |suswosos | | sexue |0 |swswnaor | |

6x 1-1/2 sMsHHoe12 | | 12x1-3/4 SMSHH1213 | |
8x1/4 smsHHoso1 | | 12x 1172 SMSHH1222 | |

iexsn |00 | svswrieos |
| sx2 | 100 |swsHhomo |
“Sexr |0 [sveteo |
Cwoxie | so |svswiez |

USE WRENCH SIZES AS FOLLOWS: #6 & #8 = 1/4, #10 & #12 =5/16, #12=7/16, 5/16 =1/2, 3/8 =9/16
DIAMETER MEASURES AS FOLLOWS: #6=1/8 #8=5/32 #10=3/16 #12=7/32 #14 =1/4

The LA119 Pan Assortment — =
contains the following items: - The LA120 Pan Assortment

SMSHH1410, SMSHH1503, SMSHH1510, = contains the following items:
E | SMSHH1403, SMSHH1410, SMSHH1503,
SMSSL0802, SMSSL0803, SMSSL0810,

SMSPH0610, SMSPH0612, SMSPH0802,
SMSSL1010, SMSSL1012, SMSSL1202,
SMSSL1402, SMSSL 1403, SMSSL1410,

SMSPH1002, SMSPH1003, SMSPH1010,
SMSPH1210, SMSPH1212, SMSPH1402,




TEK SCREWS

HEX WASHER HEAD TEK SCREWS - ZINC PLATED

=10) 4 STAINLESS 210)4 STAINLESS
SIZE QTyY ITEM # ITEM # SIZE QTY ITEM # ITEM #

612 | 100 | SMSTKHOGOZ |SSSHSTKHOB02 sustimozo |

SMSTKH0610 | SSSMSTKH0610 SMSTKH1210 | SSSMSTKH1210

oxi2 | 100 | SUSTHOere |SSSSTRMOBr2 | 1ax3é | 100 | SWSTRIaO3 | SSSWSTRHIa03
Coxius (100 | suson | | gexs | o] susmano |

Additional sizes available

PHILLIPS PAN HEAD TEK SCREWS - ZINC PLATED

BOX 210)4

DESCRIPTION QUANTITY ITEM # DESCRIPTION QUANTITY

6x1/2 SMSTKP0602 10 x 1/2 SMSTKP1002
8 x 3/4 SMSTKP0803 10 x 1-1/2 SMSTKP1012

14 x 1 100 SMSTKP1410

ITEM #

Additional sizes available

The LA142 Pan Assortment
contains the following items:

SMSTKH0803, SMSTKH0810, SMSTKH1003,
SMSTKH1210, SMSTKH1212, SMSTKH1403,
SMSTKP0803, SMSTKP0810. SMSTKP1003,

| o BATTERY & LICENSE PLATE BOLTS
| (O) DESCRIPTION BOX QTY ITEM #

J - License Plate Bolts - White Nylon J735
W 5/16 - 18 x 1-3/8 Battery Bolts 50 J861

MIB512 V:‘J861 Packaged with Shoulder Hex Nuts - Plated




OUTDOOR

We offer Hot Dipped Galvanized,
Stainless Steel Fasteners, Nails, Screws
& more for all your outdoor needs!!

Call for more info

=:%'-‘m/_:= To Order Call: 708-447-4500 or Outside lllinois 800-837-8707

e~

<



MACHINE SCREWS

MACHINE SCREWS - Zinc Plated
DESCRIPTION BOX QTY SLOTTED # PHILLIPS # FLAT PHILLIPS #

6-32 x 1/2 MS063202 MSPH063202 MSPFH063202

6-32 x 1 MS063210 MSPH063210 MSPFH063210

8-32 x 1/2 MS083202 MSPH083202 MSPFH083202

832 x 1 MS083210 MSPH083210 MSPFH083210

8-32 x 2 MS083220 MSPH083220 MSPFH083220

10-32 x 3/4 MS103203 MSPH103203 MSPFH103203

O, 10-24 x 1/2 MS102402 MSPH102402 MSPFH102402

PRILLIPS 10-24 x 1 MS102410 MSPH102410 MSPFH102410

10-24 x 2 MS102420 MSPH102420 MSPFH102420

10-24 x 3 MS102430 | | MSPFH102430

1/4-20 x 3/4 MS142003 MSPH142003 MSPFH142003

1/4-20 x 1-1/2 MS142012 MSPH142012 MSPFH142012
1/4-20 x 2-1/2 MS142022 MSPH142022 | |

Additional sizes available

SLOTTED

The LA158 Pan Assortment
contains the following items:

HNMO1, HNM02, HNMO03, HNM04, HNMO5,
MSPH083202, MSPH083203, MSPH083210,
MSPH103202, MSPH103203, MSPH103210,

WWMO1, WWM02, WWM03, WWMO05

The LA121 Pan Assortment
contains the following items:

HNMO1, HNM02, HNMO03, HNMO04,

e

i e

MS063210, MS083202, MS083203,
LA121 MS103202, MS103203, MS103210,

ITEM #

WWMO02, WWMO03, WWMO05

To Order Call: 708-447-4500 or Outside lllinois 800-837-8707




MACHINE SCREWS

MACHINE SCREWS - stainless Steel
DESCRIPTION  BOXQTY  SLOTTED # PHILLIPS # FLAT PHILLIPS #

| oaexaw | w0 | Sousoeweos | Ssvspuoss |  Sswsprosoz |
~osaxrz | 1o | sousiowr | sovpeowoz | |
| osext | w0 | ssusioaeio | ssspaoozio | sswserwioaeio |
a2z | 100 | sousieans | osvpHaaoz | sousprwiéa0s |

1/4-20 x 3 100 SSMS142030 SSMSPH142030 SSMSPFH142030

Additional sizes available

SLOTTED

FLAT PHILLIPS

THREADED ROD
3 Foot Lengths - Zinc Plated 3 Foot Lengths - B-7 Hardened Plain

USS ITEM # SAE ITEM # USS B7 ITEM # SAE B7 ITEM #

W@
o

ZINC PLATED
’

B-7 PLAIN
| RODU20 | [ A4 |
Additional lengths are available
—\UM4/= 710 Order Call: 708-447-4500 or Outside lllinois 800-837-8707
— = 29




CAMTAINERS

\\ CAMTAINER NUTS
- DESCRIPTION ITEM NUMBER BOX QUANTITY

ROiJND
5/16-18 x 1/2 Std. Round 1" Head Dia. - TX55 CAMB9060008
% 5/16-18 Encapsulated White CAMINO5 100

ENCAPSULATED 5/16-18 Encapsulated White-Barbed Neck CAMIN0502 100

N 5/16-18 Encapsulated Gray-Barbed Neck CAMIN0502G 100

&

ENCAPSULATED
BARBED NECK

ENCAPSULATED CAMTAINER BOLTS
DESCRIPTION ITEM NUMBER  BOX QUANTITY

5/16-18 x 7/8 - Encapsulated (gray) CAMING0507
5/16-18 x 1 - Encapsulated (gray) CAMINGO0510 100

5/16-18 x 1-1/4 - Encapsulated (gray) CAMINGO0511 100

ROUND HEAD CAMTAINER BOLTS
DESCRIPTION ITEM NUMBER ~ BOX QUANTITY

5/16-18 x 7/8 Std. Round Head CAM88082120

5/16-18 x 1-1/4 Std. Round Head CAM88084160 100

HEX HEAD CAMTAINER BOLTS

‘\ DESCRIPTION ITEM NUMBER BOX QUANTITY

5/16-18 x 1-1/8 Hex Washer Head CAMHHWO0511 100

To Order Call: 708-447-4500 or Outside lllinois 800-837-8707

30




CONSTRUCTION ANCHORS

WEDGE-ALL HEAVY DUTY ANCHORS
ITEM # SIZE
MASWA25134 1/4 X 1-3/4

EASY SET ANCHORS
MASWA25314 1/4 X 3-1/4

ITEM # SIZE

MASEZAC25238 1/4 X2 3/8
MASWA37234 3/8 X 2-3/4

MASWA373121 3/8 X 3-1/2

MASWA37500 3/8 X5

MASWA50234 1/2 X 2-3/4

MASWA50414 1/2 X 4-1/4

MASWA50512 1/2 X 5-1/2

SLEEVE ANCHORS
MASWAG62312 5/8 X 3-1/2 ITEM # SIZE

MASSL37300H  3/8 X 3 HEX HD
MASWA62500 5/8 X5

MASSL37400H 3/8 X 4 HEX HD
MASWA62700 5/8 X7

MASSL50600H  1/2 X 6 HEX HD

MASSL62414H  5/8 X 4-1/4 HEX HD

MASWA75434 3/4 X 4-3/4
MASSL37400PF 3/8 X 4 PHILLIPS FLAT HD
MASWA75614 3/4 X 6-1/4

MASWA75812 3/4 X 8-1/2

MASWA75120 3/4X12

DROP IN ANCHORS
ITEM # SIZE

MASWA11200 1X12 MASDIA25 1/4

MASWA16000 1 X

»

MASWA503344SS  1/2 X 3-3/4 STAINLESS STEEL | | | | MASDIAL37 3/8 LIPPED

MASWA37500MG 3/8 X 5 GALVANIZED g MASDIAS0

Drop-In

MASWA62500MG 5/8 X 5 GALVANIZED MASDIA50S 1/2 SHORTY W/ SETTING TOOL

EXPANSION SCREW ANCHOR @& MASDIA75 3/4
ITEM # SIZE : Loes
MASESA50 1/2 X 13

MASDIA38 SETTING TOOL 3/8

MASDIAST62 SETTING TOOL 5/8

31




CONSTRUCTION ANCHORS

PLASTIC WALL ANCHORS
ITEM # SIZE DESCRIPTION

MASPSA06 #6-8 PLASTIC SCREW ANCHOR

HAMMER SET ANCHORS

ITEM # SIZE MASPSA10 #10-12 PLASTIC SCREW ANCHOR

MASZN25100 1/4 X 1 NAILON ZINC

MASPSAKO06 #6-8 PLASTIC SCREW ANCHOR KIT *

MASPSAK10 #10-12 PLASTIC SCREW ANCHOR KIT *
*Includes Drill Bit, 100 Screws and 100 Plastic anchors.

HOLLOW WALL ANCHORS
ITEM # SIZE DESCRIPTION
MASHWA12X 1/8 1/16-1/4 GRIP

TOGGLE BOLTS WITH SPRING WING
MASHWA12L 1/8 5/8-7/8 GRIP ITEM # SIZE DESCRIPTION

MASSWTB12200R 1/8 X2  ROUND HEAD
MASHWA18L 3/16 5/8-1 3/16 GRIP

MASSWTB18200R 3/16 X2 ROUND HEAD
MASHWA25L 1/4 5/8-1 3/16 GRIP

HOLLOW WALL DRIVE ANCHORS » | MASSWTB18400R  3/16 X4 ROUND HEAD
MASHWDA12LD 1/8 1/8-3/16 GRIP
MASSWTB25300R  1/4 X3  ROUND HEAD
MASSWTB25500R  1/4 X5  ROUND HEAD

MASSWTB37400R 3/8 X4  ROUND HEAD

MASSWTB12300M 1/8 X3  MUSHROOM HEAD

O
) ‘\

For Concrete For Metal For Wood MASSWTB18400M  3/16 X4 MUSHROOM HEAD

HANGERMATE QTY. 25
ITEM # SIZE DESCRIPTION

MASPFM2211200 1/4 20 X 1 5/8 FOR CONCRETE
MASPFM2231200 1/4-20 X 1-1/2 FOR STEEL

MASSWTB25400M 1/4 X4  MUSHROOM HEAD
TOGGLE WINGS
MASSWTH25 1/4 TOGGLE WING

MASSWTH37 3/8 TOGGLE WING

MASPFM2251050 1/4-20 X 1 FOR WOOD
MASPFM2251200 1/4-20 X 3 FOR WOOD

All Are for Vertical 3/8 Rod

To Order Call: 708-447-4500 or Outside lllinois 800-837-8707




CONSTRUCTION ANCHORS

HEAVY DUTY TITAN
ITEM # SIZE
HEAVY DUTY TITEN WITH HEX WASHER HEAD

meiabo

-
MASTHD50300H 1/2 X 3
SDS PLUS & SDS MAX BITS
MASTHD50500H 1/2 X5 ITEM # DESC. SIZE
SDS PLUS
MBO676125000 2 CUTTER 3/8x6x8
MASTHD62800H 5/8 X 8
MBO674510000 2 CUTTER 516 x4 x6
MASTHD75500H 3/4 X5 2 CUTTER
HEAVY DUTY TITEN HEX HEAD MBO674708000 2 CUTTER 1/4 x4 x 6
MASTTN18114H 3/16 X 1-1/4
MASTTN18214H 3/16 X 2-1/4 MBO676147000 2 CUTTER 3/16 x8 x 10
MASTTN25134H 1/4 X 1-3/4 MBO674624000 2 CUTTER 3/4x10x 12
MBOST4319000 _2CUTTER _ 9itexéxs | com
CHISEL
MASTTN25334H 1/4 X 3-3/4 MBO674520000 2 CUTTER 5/8x6x8
MASTTN25134PF 3/16 X 1-3/4 PHIL FLAT HD MBO688062000 2 CUTTER 1/2x10x 12
P
HEAD 1 MBO631420420  Cold Chisel 3/4x 10
HSDS PLUS CARBIDE DRILL BITS SDS MAX
ITEM # SIZE BULL
MASMDBP15500H  5/32 X 5 FOR 3/16 TITEN MBO676716000 2 CUTTER 12x16x21 | o0
CHISEL

MBO676720000 4 CUTTER 5/8 x 16 x 21

MASMDBP15700H 5/32 X 7 FOR 3/16 TITEN

MBO676724000 4 CUTTER 3/4 x 16 x 21 ‘

MASMDBP18600H 3/16 X 6 FOR 1/4 TITEN

MASMDP03708

MASMDP05004

MASMDP05010

MASMDP06210

MASMDP07508

MASTTNTO1

3/8X8

1/2 X 4X 6-1/14

1/2X 10

5/8 X10

3/4X8

TITEN DRILL BIT DRIVER SET

MBO676700000

MBO676904000

MBO676916000

4 CUTTER 1x8x13

4 CUTTER 1-1/8 x 16 x 21

4 CUTTER 1-1/2 x 18 x 23| 4 cUTTER

To Order Call: 708-447-4500 or Outside lllinois 800-837-8707




RETAINING RINGS

“E” STANDARD TYPE RETAINING RING
SHAFT BOX QTY ITEM # SHAFT BOX QTY ITEM #

2712 s Jo51

The LA113 Pan
Assortment contains the
following items:

ITEM #
LA113 J1547, J2711, J2713, J2715,
J4099, J4100, J4101, J4102,

EXTERNAL & INTERNAL SNAP RINGS
SHAFT BOXQTY EXT.ITEM# INT.ITEM# SHAFT BOXQTY EXT.ITEM# INT.ITEM #

C a6 | o | uae | — | e | s | s | sese
< )

The LA115 Pan Assortment
contains the following items:
J2763, J2764, J2765, J2766, J2767,

J2773, J2774, J4112, J4113, J4114,

The LA114 Pan Assortment
contains the following items:

ITEM #
LA115

J4120, J4121, J4122, J4123

J2750, J2751, J2752, J2753, J2754,
J2760, J2761, J4124, J4126, J4127,




REPAIR KITS, STUDS, ETC.

THREAD REPAIR KITS / INSERTS
SIZE KITITEM# BOXQTY INSERTITEM# SIZE  KITITEM# BOX QTY INSERTITEM#

0D

Additional sizes available

INSERTS

TRUCK WHEEL STUDS & NUTS @
DESCRIPTION (SIZE) BOX QTY ITEM # y

3/4-10 x 16 x 2-7/8 Wheel Stud (Dayton Wheel) BWPM35 WHEEL NUT OUTER NUT

=)

3/4-10 x 2-3/4 Wheel Stud (Dayton Wheel) BWPM39

3/4-10 Wheel Nut (Dayton Wheel) BWPM45 INNER NUT

1-1/8 L.H. Outer Nut (Budd Wheels) BWPM127 A 20 -
WHEEL STUD I

3/4-16 L.H. Inner Nut (Budd Wheels) BWPM129

J

REMOVER SETTER

Wheel Stud Remover (3/4”-10) 1 BWPM1181

GLADHANDS AND SEALS
DESCRIPTION BOX QTY ITEM #

Universal Glad Hand with Rubber Seal

Emergency Glad Hand with Rubber Seal (Red) GHE
Bolt on Emergency Glad Hand - 37 Degree GH5327

BWPM i
Urethane Glad Hand Seal Blue GHBUS GHS317 312 GHS3z7
Glad Hand Protector 100 GHP - ’ .

GHBUS GHRUS GHP

To Order Call: 708-447-4500 or Outside lllinois 800-837-8707
35




COTTER PINS

HOW TO MEASURE
Point of Contact With Hole

DIAMETER X LENGTH BOX QTY ITEM # DIAMETER X LENGTH BOX QTY ITEM #

|
il
'

The LA112 Pan Assortment
contains the following items:

CP1010, CP1012, CP1510, CP1520,

CP3020, CP3030, CP4020, CP4030

To Order Call: 708-447-4500 or Outside lllinois 800-837-8707




CLEVIS PINS, ROOFING NAILS

CLEVIS PINS
SIZE BOX QTY ITEM #

CHIVERSAR G EVISIRINS

SIZE BOX QTY ITEM #

1/4 x 1-1/2 PIN0412 1/2 % 1-1/2 PIN0812
5/16 x 2 PIN0520 5/8 x 3 PINO1030

TENSION "ROLL” PINS - High Carbon Steel
SIZE BOX QTY ITEM # SIZE BOX QTY ITEM #

The LA117 Pan Assortment
contains the following items:

ITEM #
LA117 J2727, 42731, J2736, J2738, J2739,
J4598, J4602, J4616, J4618, J4619,

J4652, J4654, J4659, J4660

SPRING CENTER BOLTS - S.A.E. Fillister Head
SIZE BOX QTY ITEM # SIZE BOX QTY ITEM #

3/8 x 6 J3206 1/2 x 10 J3217

ROOFING NAILS - GALVANIZED
ITEM # DESCRIPTION QTY

MIAGN 1-1/2” GAL NAILS 1LB
MIAGN3 3” GAL NAILS 1LB

To Order Call: 708-447-4500 or Outside lllinois 800-837-8707

37




